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VI Semester B.Com. Examination, May/June - 2019
COMMERCE

6.5 : Elective Paper - III - Performance Management
(CBCS) (Freshers+Repeaters - 2017-18 & onwards)
Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written in English or in Kannada.

en - «/SECTION - A
1. XBRPFmeEcne 5 TJN9R wwgdr. T VBN 2 woInw. 5x2=10

Answer any 5 questions. Each question carries 2 marks.
(a) ™0 ﬁzimg Q0TBeD 9

What is target costing ?
(b) WBeNWeIF BT ﬁaimgd I @ﬁd%oﬁa&Q BRR.

Give the meaning of activity based costing.
() AD {8 Vo™ QOWTE 7

What is Break Even Point ?

(d)

el

jaiaag QOWTT w7 AFR DD ARET 7
What do you mean by standard costing ?

(e) WoBwRY - TRONY TORTE B FOBDLAOIVID R
How do you calculate Debt - Equity Ratio ?

() WTRBH BS0H VFPFITTBOD, Sel.
Give the meaning of Transfer Price.

(8) ¥OT BOWTOD 20TTeD 2
What is Flexible Budget ?

P.T.O.
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ciRFmmde 3 TJNCR WO, TE TJR 6 woINW. 3x6=18
Answer any 3 questions. Each question carries 6 marks.
FROTEIONT WToF TP WeEeE ST ﬁagdesa;iﬁ@ ST BIOAINGH, S92
State the difference between Traditional costing and Activity based costing.

% 39NT TPHINOT

(a) B By BIoD

(b) 3D BT BIBoH. K

() I WBDTFF BIOBMT, FoBLAND

b3, rowdred 4000

TR rosdried 5000

5% %RITT % 3 TS nown
TR BROTT % 2.50 & nowdn

Using the following information, calculate :
(a) Labour Cost Variance

(b) Labour Rate Variance

(c) Labour Efficiency Variance

Standard hours 4000

Actual hours 5000

Standard wage rate % 3 per hour
Actual wage rate ¥ 2.50 per hour

& FPNT SN o :do%ﬁ ﬁowoqﬁmid :

Roooe 83S TS oD 3 100
wBoNE B TG chedwrn T 80

A0 Serisd T 3,00,000
BORHBCND

(a) xm%a RO CLRAFNYY BB BRSTY.
(b) 2.0 PJe AEAS WOTNTI, 4000 chRJLFRVR 3R TpAmR Jpove: B

O AON0.
The following information relates to a firm
Selling price per unit % 100
Variable cost per unit ¥ 80
Fixed cost ¥ 3,00,000
Find out.

(a) BEP in units and in amount .
(b) Find out selling price per unit if BEP is brought down to 4000 units.
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FOUOFN0D 10,000 ohenesr sn)@awﬁoua HOTID ﬁail

3 Qo

LRINVTALN

39

AINSEIVEMIWNS YT

%0 ween TN & 2,00,000)
uu@“r’oa’ DR (FeT)
BooooL BB (10% ,\éd]
NITB ﬁ?ﬁr‘.% (20% ?’Eapd]
BRYI w&;i‘ieéo (X 1,00,000 Eypd)

8,000 0hRRWNY BUT SODTONB/I, IRITOA.
The expenses budgeted for productlon of 10,000 units in a factory is furnished

S &3 90RO :
T3 oeIWR R)
140
50
40
20
10
26
14

10
310

below :
Elements of cost Cost per unit (%)
Materials 140
Labour 50
Variable overheads 40
Fixed overheads X 2,00,000) 20
Variable expenses (direct) 10
Selling expenses (10% fixed) 26
Distribution expenses (20% fixed) 14
Administration expenses (X 1,00,000) fixed for all level 10
S L0

Prepare a budget for the production of 8,000 units.

6. FIENT BHENVOT HB HOTF dﬁ”ﬁ%}?&) TOBLROWD.,
-

(a) DOeH e3T3eT 32 90,000
(b) oho3nRY wwé 3% 3,00,000
(c) woomrnd éoo AL ﬁ 2,00,000
(d) ooy Woeg 5 4,00,000
(¢) DRFRB B x{ w“é’s =33 1,15,000
(0 moonAe 7 wedood Wﬁzg!d 1,50,000
%3 BOWF Uwudn% :

(i) =DBed sBeBRY B0y, 50
(ii) "?wﬁﬁ%) NODJ" 200
(i) BoRth ARLporis Ros 5,00,000
(1v) w@?ﬁn@ nJODj) 4,000
(v) RBoS0IT rooore xoss, 100
(vi) waﬂaﬁmf TR WORONF TV 500
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From the following calculate cost driver rate :

3
(a) Purchase order cost ‘ 90,000 ‘
(b) Material set up cost 3,00,000

(c) Product packing cost 2,00,000

(d) Machine testing cost 4,00,000

(e) Maintenance and cleaning cost 1,15,000

(f) Material handling cost 1,50,000

Cost allocation basis are :

(i) Number of purchase order 50

(i) Number of setup 200

(iii) No. of packaged packed 5,00,000

(iv) Number of Test 4,000

(v) No. of batch run 100

(vi) No. of time materials handled 500

2o — %/SECTION - C
SRPwente 3 I3 T"@n & 3@9\3 Eaft) wﬁn 14 ©osn%.

Answer any 3 questions. Each.question carries 14 marks.

20TH FOTAOIW 2 = Fneﬁ@ & FYT0T &)wdwm ERT.

QT 31.3.18 31.3.19
FIo00E3 < 16,20,000 T 18,00,000
o3 T 36,000 < 90,000
FOWIHEOND :

(a) RP-TRTR JOTTore

(b) P\_&d @

(c) ¥6,00,000 coBRTRe BeToNtom ook Ro3
(d) ﬁ:‘nké o T NYY

(e) oo % 1,44,000 Elepty é@ﬁu@&@ 0TIV

(f) %20,00,000 Hwosts

3 ©
(g) QTBD BBONY wIoIHR f}agj’

i

e s i

ARV

3x14=42



(T

An Industry Reports

TN °

Particulars 31.3.18
Sales 16,20,000
Profit 36,000
Calculate :

(a) P/V Ratio

(b) Fixed cost

(c)
(d)
(e)
(f)
(g)

Sales to earn a profit of ¥ 6,00,000

BEP in amount

Margin of safety at a profit of T 1,44,000
Profit when sales are ¥ 20,00,000

Variable cost for 2 years

31.3.19
18,00,000
90,000

RO

6,000
9,000
9,000

11,000

14,000
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the following Information for 2 consecutive years

1-4-2019 Toth FoTIOH TWToPT de, X 32,000 DR -wex’ 2019 3 IBLI

se3neh
w

5,000
6,000
7,000
9,000

9,000

VRO 25% TR, IR Boeed &HP MeHson 1 Sone meT ©BG TSNS,

) 3 &on¢ Ik B0oME TP, JoIPOILD B FINT BPLENYR, VeB@NT.

30N VWpleniX] 0ocqns
("f). R

PWRO 70,000 44,000
WRFE 80,000 56,000
DR 96,000 60,000
220¢ 1,00,000 68,000
BT 1,20,000 62,000
933 InkdN :
(a) mqﬁmdm 2 don¥ AO VWO AT,
(b)
(c) BRI DB [ePriv woIS0H ©oIT 1 gorish.
(d)

0% 9B T 28,000 S50 é@ﬁa‘na’na &R 2019 3 “’m*oa%odac;‘);q TOWERVNT.

P.T.O.
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A manufacturing company is expecting to have ¥ 32,000 cash in hand on
1.4.19 and it requested you to prepare a cash budget for 3 months April to
June 19. The following information is supplied to you.

Months Sales Purchases Wages Expenses
R®) )

February 70,000 " 44,000 6,000 5,000

March 80,000 56,000 9,000 6,000

April 96,000 60,000 9,000 7,000

May 1,00,000 68,000 11,000 9,000

June 1,20,000 62,000 14,000 9,000

Other Informations :
(a) Period of credit allowed by supplier is 2 months.

(b) 25% of sales are for cash and the period credit allowed to customer
is one month.

(c) Delay in payment of wages and expenses is one month
(d) Income tax ¥ 28,000 is to be paid in June 2019.

9. 200 TRFRONIT NTOT LoD RURW
40% Iwoprnd A T 40 X8 3N
60% mwopensd B 30 e &3a°R
WIB0NY 10% T, Booed D, AOCFICNT,
TN ROTN, WLAW
90 83° JWPFNL A T3 83 T 42
160 &5° TWToFN B ©é &7 T 23
OANT YWTITS 230 LI NW
8 0edT HWONPOW TP [N, BI,0PNYR), FOWLAWO.
The standard cost of a certain in chemical mixture is :
40% materials A at ¥ 40 per ton
60% materials B at ¥ 30 per ton

A standard loss of 10% is expected in production. Actual cost of materials
used is :

90 Tons of materials A at a cost of ¥ 42 per ton
160 Tons of materials B at a cost of ¥ 23 per ton
Actual output is 230 tons.

Calculate all material variances.
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11.

2,00 FRFNONY 10,000 ODWILFNRY BRONB LVIITIN BNV BBNYI, LT
BRI ¢ .

o " T oheREER (3)
TS 70

w20 25
LTICTOTT T w&m%‘b 20
2T i &4 1 ,00,000) St
9 Begned (mﬁ) 5
RT3 wzswv (10% &9) 13
DIV wasﬁe;o (20% Nd) 7
Cletolc wesm;e (% 50 000) 5
b3 4:73&.1 w@ 0PRILF 155

8000 om,raaw D 6 ,000 CHRFR INNI eo?,é 3, ‘@’.@eaf\oa’ WRONT  TIWR,
303R0A B T m?bwn BReNs BPRD, B® épem

Theé exp(,nses for budgeted productmn of 10,000 units in a factory are
given below :

Per unit (3)
Materials 70
Labour 25
Variable overhead 20
Fixed overhead (X 1,00,000) 10
Variable expenses (direct) 5
Selling expenses (10% fixed) 13
Distribution expenses (20% fixed) S
Administration expenses (X 50,000) 5
Total Cost per unit 155

Prepare a budget for production of (a) 8,000 units (b) 6,000 units and
(c) Indicate cost per unit at both the levels.

(a) =O=T Q? TORNT &r\}ﬁmeﬁﬁﬁ@.ﬁe SRR ?

(b) 70 a%waxﬁ BoBriv, SOA.

(a) What are the objcctwes of Environmental Accounting ?
(b) State the steps in target costing.
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